
 

TranslatonImpossible

Solution 1 Atransformation is now a 2 tuplewith
a matrix
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Applying the transformation is doneby
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Composing transformations T Te is annoying
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Fact composition T otz TTz justworks HW2Proveit
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If the basis is
orthonormal this makes a r tansformation

doesnotchange shape or scale

Mayrotatetranslate and
reflect



mail.ie amthe thing is east
2 Do theast thing do easy thing
3 Undo step 1 return to originalfor
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inverseworks butsometimes it'ssimpler

translate E translation E

Rotate 07 rotate o

scale SxSg scale sty

Rigid Q E Q is orthonormal
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